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1 Ovis aries |ATGACAGCAC AGAATATGGA CTCTDCOCAGA TAAATAATAA AATTTGETGC AAMGACGACC AGAACCCTCA CTCAAGGAAC ATCTGTAACA TCTCCTGTZA
Z Cervus ATGACAGCAC AGAATATGGA CTCTTCCAGA TCAMCAATAA AATTTGGTGC AAAMGATGATC AGAACCCTCA CTCAMGCAAC ATCTGTAACA TCTCCTGTGA
3 Bulbalus ATGACAGCAC AGAATATGGA CTCTTCCAGA TAAATAATAA AATTTGGTGC AAAMGACGACC AGAACCCTCA CTCAMGCAAC ATCTGTAACA TCTCCTGTGA
4 Bos ATGACAGCAC AGAATATGGA CTCTTCCAGA TAAATAATAA AAMTTTGGTGC AAMGACGATC AGAACCCTCA CTCAAGCGAC ATCTGTAACA TCTCCTGTCA
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20#0 20?0 QDFU 20#0 QUFU QUFD ZDFD 20?0 20?0 QIFU
1 Ovis aries |[CAGTGAGTGA CTTCTTTCTA CCCTGTTCCT GTGTTTTTIT AARMCCTACT CCTGGGATALA CCTCCTTTTT TTTAGTGTGA AACACACCTT TGGCTTCACT
2 Cervus TAGTGAGTGA CTTCTTTTTA CCCTGTTOCT GTGTTTTTCT GAAACCTACT CCTGGGATAL CCTCCTTTTT TTTGGTGTCA AGCACACTTC TGGCTTCACT
3 Bulbalus TAGTGAGTAS CTTCTTTTTA CCCTSTTCCT GTOTTTTTCT GAMAACCTACT CCTGGCATAL CCTCCTTTTT TTTGGTOTGA AGCACACCTC TGGCTTCACT
4 Bos CAG'TGAGTAA CTTCTTTTTA C'T'C"D:}'T"ICCT G'TGI"I'I"I‘I‘CT GAMCCTACT CCTGGGATAY CCTC--TTTT TTTGOTATGA AGCACACCTC TGGCTTCACT
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1 Ovis aries |GCCTTHHICT CCAAATTAM TGTGGGACTT GATAATACCG AGTAAGAGGC TCTTAGAATT TTTCATTAAC ACCAAATCCC CAGACAGTTT CTTAAAGTTC
2 Cervus GCCTTGZACT CCAMATTAM TGTGGGACTT GATAATACCA AGTAAGGGGC TCTTAGAATT TTTCASTAAC ACCAAMATTCC CAGACASTTT CTTAMAGTTC
3 Bulbalus GCCTTGZACT CCAAATTAMC TGTGGGACTT GATAATACCS AGTAAGAGGC TCTTAGAATT TTTCATTAAC ACCAAMATCCC C----AGTTT CTTAMAGTTC
4 Bos GTCTTGFACT CCAAATTAMS TETHFHFACCT GATAATACCG AGTAAGAGGC TCTTAGAATT TTTCATTAMC ACTAAATCCC CAGACAGTTT CTTALAGTTC
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22|10 22|20 22|30 22|40 22|5E| ZZF.D ZZFD 22i‘30 22?0 23|EIEI
1 Ovis aries |ATGGGTAGGT GACCTGAGCT GTTTGGCTAT CTTGATCTAT AATACCCTGT ATTTTCAGAT TAAGTTGCTT GATGAAGTTG ATAATTCCTA AGGAGCTCC
Z Cervus TTGGGAAGGT GACCTGAGCT GCTTGGGGAT CTTGATSTAT AATACCCTGT ATTTTCAGAC TAAGTTGGTT AATGAAGTTG ATAATTCCTA AGGTGCTGCT
3 Bulbalus ATGGETAGET GACCTHAGCT GTTTHFGGAT CTTGATGTAT AATACCCTGT ATTTTCAGAC TAAGTTGETT GUTGAAGTTG ATAATTCCTA AGGAGCTGCC
4 Bos ATGGETAGGT GACCTZAGCT G'T'T'IGGGGAT CTTGATGTAT AATACCCTST ATTTTCAGAC TAACGTTGGTT GATGAAGTTS ATAATTCCTA AGGAGCTGCC
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23#0 23?0 23?0 23?0 ZSFU ZSFD ZSFD 23?0 23?0 24FU
1 Ovis aries |[CCAGAGAAGE GAAGGGAGTC CTTACCTAGS GATAGGCATT ACTGTATTAA ATCTCTCATC TAAMAGGCAL CAGGCATAMG CCTCTAGTTC AGAGAAMACC
Z Cervus CCAGAGAMGC GAAMGGGAGTC CTTACCTAGG GCTAGGCATT ACTGTATTAG ATTTCTCA-- —-----=-== --—- CATAAG CCTCTAGTTC AGAGAALACC
3 Bulbalus CAAMGAGAAGLE GAAMGGGAGTC CTTACCTAGG GATAGGCATT ACTATATTAL ATTTCTCACC CAGAAGGCAA CAGGCATAAG CCTCTAGTTT AGAGAALTCC
4 Bos CCAGAGAMGA GAAGGGAGTC CTTACCTAGG GATAGGCATT ACTGTATTGA ATTTCTCACC CAGAAGGCAL CAGGCATAAG CCTCTAGTTC AGAGAAMACC
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24#0 24?0 ZQFU 24?0 24FU 24FD 24FD ZQFU 24?0 ZSFU
1 Ovis aries |AGAGAAGACG GAAATTCATT ACCCTTCTGH: GTAATACTTA GCTCTCTCAT TTTTTOCACC TGTAACTCCT GCTAGAGTTC CTHFATGATS ATCTTACTZA
Z Cervus AGAGAMGAGG GAARATTCATT ACTTTTCTGG GTAATACTTA TTTCTCTCAT TTTTTCCACC TATAACTCCT GUCAGAGTTC CTGGATGATS ACCTTACTGA
3 Bulbalus AGAGAMGAGG GAAATTCATT ACCCTTCTEG GTAATACTTA GCTCTCTCAT TTTTTCCACC TGTAAMCTCCT GUCAGAGTTC CTGGATGATS ATCTTACTGA
4 Bos AGAGAAGAGG GAALTTCATT A‘T‘CC"['TC"DGG GTAATACTTA GC"IC"[C"[‘CAT TTTTTCCACC TA'T‘AAC'ICC'T‘ GCCAGAG"I‘T‘C CTGGATGATG A‘IC'T'I‘AC'TGA
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25#0 25?0 QSFU 25#0 QSFU QSFU ZSFU 25?0 25?0 QSFU
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TGACATTAT: TGTGTCAAGL AGATTCTGGA TAAMGTAGGA ATTAACTACT GETZAGTCAC CTCTCTATTT TTCACTTAAT CTTTCCCCTC TTTCTTCTCA
TGACATTATG: TGTGTCAAGL AGATTCTGGA TAAMGTAGGA ATTAACTACT GOTGAGTCAC CTTTCTATTT CCTACTTAAT CTTTCCCCTC TTTCTTCTCA
TGACATTATS TOTGTCAAGA AGATTCTGGA TAAMGTAGGA ATTAACTACT GGTGAGTCAC CTCTCTATTT TTTACTTAAT CTTTCCCCTC TTTCTTCTCA
TGACATTATS TOTGTCAAGA AGATTCTHGA TAAMGTAGGA ATTAACTACT GG'T'GAG'T'CGC C'T‘C'TCTA'T'T'T‘ TTCACTTAAT CTTTCCTCTC TTTCTTCTCA
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GTCCTTTCAT COCAGCACTA TACCCCTTTC T----ATTTC CTGGTCTTTT AAACTAGAAT GTAATCTTCA AMACAGAALT CATCAAGCAG ACTCAGGAAL
GTCCTTTCGT CCCAGCACTA TACTCCTTTC TCTCTATTTC CTGGTCTTTT AAGCTAGAAT GTAATCTTAA AAACAAARAT CATCAAMGCAG ACTCCGGTTT
GTCCTTTCGT CCCAGCACTA TACTCCTTTC TCTCTATTTC CTGGTCTTIT AAGCTAGAAT GTAATCTTAA AMACAAARAT CATCAAGCAG ACTCTGGTTT
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2?#0 2??0 Z?FU 2??0 ZTFU ZTFD ZTFD 2??0 2??0 ZBFU
1 0vis aries |CCAATTCTGA AGCTTCACTT ACTTCACTCC TGTTAGCAAT TTCCCTACCT AGSGTTCCCT AATAGAGGGC TGAGATCCAG GATTTUCTTLC ACCAGGACTT
Z Cervus CCAATTTTGA AGCTTCACTT ----CACTCC CGTTAGCAAT TTTCTTACCT AGGGTTCCCT AATAGAGGGHC TZAGATCCAG GATTTCCTTC ACCAGGACTT
3 Bulbalus CCAATTTTGA AGCTTCACTT ACTTCACTCC CGTTAAMCAAT TTTCTTACCT AGGGTTCCCT AATAGAGGGC TGAGATCCAG GATTTCCTTC ACCAGGACTT
4 Bos CCMI‘I‘I‘I\Z}A AGCTTCACTT AC'I‘I\CAC'ICC CG‘I‘TAGCMT I'I‘I\CCTACCT AGGGTTCCCT AATAGAGGGC TGAGATCCAG GATTTCCTTC ACCAGGACTT
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28#0 28?0 QSFU 28#0 QSFU QSFD ZSFD 28?0 28?0 QQFU
1 Ovis aries |GAACATCTAL TTCTACTTGT TCAGTCTTAC ATCCTALGGC ATGCCCTTTG A-CCACTGTC CCACAATTTT CTTGGAGTTT TAALAALGGS ACCTTACTCC
2 Cervus GAGCACCTAL TTCTGCTTGT TCAGTCCTAC ATCCTAAGGC ACGUCTTTTG TTCCACTGCC CCACAATTTT CTIGGAGTTT TAAMAMATGG ACCTTACTCC
3 Bulbalus |GAACATCTAA TTCTACTTGT TCAGTCCTAC ATCCTAAGAC ACGCCCTTTG TACCACTGCC CCACAATTTT CTTGGAGTTT TAAAAMATGG ACCTTACTCC
4 Bos GAACATCTAL TTCTACTTGT TCAGTCCTAC ATCCTAAG-C ACGCCCTTTG -ACCACTGCC COGCAATTTT CTTGGAGTTT TMTGG ACCTTACTCC
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1 Ovis aries |ACTAAGTGG] TCAGTATCTC TAGCCATGTG GUTGHGAAALG TUTGTCTGTA ATTTTCACCC ACAATCTTTT GCCTCAGCCT TCCTGGGGAT AdAGCTAGAT
Z Cervus ACTAAGTGGC TCAGTGCCTC TAGCCATST: GCTAGGAAAG TCTGTCTGTA ATTTTGACTC ACAATCTTCC ACCTCAGCCT TCCCGGGGAT AbASCTAGAT
3 Bulbalus ACCAAMGTGGE TCAGTGTCTC TAGCCATGTG GCTAGGALAG TCTGTCTGETA ATTTTCACCC ACAATCTTCC ACTTCAGTCT TCUCTGGGGAT AddGCTALGAT
4 Bos ACTAMGTGGE TCAGTGTCTC TAGCCATGTG GCTAGGALAG TCTGTCTGETA ATTTTCACCC ACAGTCTTOC ACCTCAGCCT TUCTGGGGAT ALdGCTALGAT
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30#0 30?0 SDFU 30?0 3UFU SUFD SDFD SDFU 30?0 31FU
1 Ovis aries |GTALMATCTAL CCAMGATCCT GTCAGT-ZAT TTGCCTTGTC TCCTTCTTCA TGATCAGGTT GGCCCATALL GCACTCTGTT CTGAGALGCT GGATCAGTGS
Z Cervus GTALATCTAL CCAAGATCCT GTCAGTCAAC TTGCCTTGTC TCCTTCTTCA TGATCAGGTT GGCCCATALLE GUACTCTSTT CTGAGALGCT GGATCAGTGG
3 Bulbalus |GTAAATCTAL CCAAGATCCT GTCAGT-AAT TTGCOCTTGTC TCCTTCTTCA TGATCAGGTT GGUCCATALL GCACTCTGTT CTGAGAAGCT GGATCAGTGG
4 Bos GTAAATCTAL CCAAMGATCCT G'T'CAG'T‘ AAT TTGCCTTSTC TCCTTCTTCA TGATCAGGTT GGCCCATAMA GCACTCTGTT CTGAGAAGCT GGATCAGTSG
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